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SP222 Quiz

In a parallel plate capacitor with empty space between the plates, we showed that the electric
field is uniform between the plates and the following are true:
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A 5.00 nF capacitor is connected to an ideal ac generator so the potential difference between
the plates is given by V=V _coswt where V, =3.00 V and ® = 500% rad/s. Find the

displacement current in the reglon between the plates as a functlon of time.
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Extra Credit:

Do I owe you a point for finding a board mistake? This is hw problem 30-18 so you don’t
have to do it.




